
IMC	=	1W IMC	=	10W IMC	=	22W IMC	=	50W (untis)
1 10 22 50 W

0.869 0.869 1.9118 4.345 W
0.027 0.027 0.059 0.135 W
0.024 0.024 0.053 0.120 W
0.012 0.012 0.027 0.061 W

on	REFL	PD 12 12 27 61 mW

0.012 0.012 0.026 0.059 W
0.006 0.006 0.013 0.030 W

on	WFSA 6 6 13 30 mW

0.006 0.006 0.013 0.029 W
0.005 0.005 0.011 0.026 W

on	WFSB 5 5 11 26 mW

0.001 0.001 0.001 0.003 W
on	GIGE1 1 1 1 3 mW

Kiwamu
alog	9331

Stefan	and	
Kiwamu	
alog	9521

power	in
	O1

possible	O2
power

IMC	REFL	on	IOT2L,	IMC	unlocked


